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I. Listening Comprehension (20 minutes)

Section A

Directions: In this section, you will hear 10 short conversations. At the end of .

each conversation. a question will be asked about what was said.
Both the conversation and the question will be spoken only once.
After each question there will be a pause. During the pause, you
must read four choices marked (A), (B), (C) and (D), and
decide which is the best answer. Then mark the corresponding
letter on the Answer Sheet with a single line through the center.
Example: You will hear:
You will read ;

(A) At the office (B) In the waiting room

(C) At the airport (D) In a restaurant
From the conversation we know that the two were talking about



Section B

Directions:

some work they have to finish in the evening. This is most likely
to have taken place at the office. Therefore,(A) “At the office” is
the best answer. You should choose answer (A) on the Answer

Sheet and mark it with a single line through the center.

In this section, you will hear 3 short passages. At the end of each
passage, you will hear some questions. Both the passage and the
questions will be spoken only once. After you hear a question, you
must choose the best answer from the four choices marked (A),
(B), (C) and (D). Then mark the corresponding letter on the

Answer Sheet with a single line through the center.

I. Spot Dictation (10 minutes)

Directions:

In this section. You will hear a passage of about 120 words three
times. The passage is printed on your Answer Sheet with about 50
words missing. First, you hear the whole passage from the
beginning to the end just to get a general idea of it. Then, in the
second reading, you will hear a signal indicating the beginning of a
pause after each sentence, sometimes two sentences or just part of
a sentence. During the pause, you must write down the missing
words you have just heard in the corresponding space on the
Answer Sheet. There is also a different signal indicating the end of
the pause. When you hear this signal, you must get ready for
what comes next from the recording. You can check what you
have written when the passage is read to you once again without

the pauses.

I. Compound Dictation (15 minutes)

Directions;

N

In this section you will hear a passage three times. When the

passage is read for the first time, you should listen carefully for its



general idea. Then listen to the passage again. When the passage
is read for the second time, you are required to fill in the blanks
numbered from Sl to S7 with the exact words you have just
heard. For blanks numbered from S8 to S10 you are required to
fill in the missing information. You can either use the exact words
you have just heard or write down the main points in your own
words. Finally, when the passage is read for the third time, you

should check what you have written.

Vocabulary and Structure (20 minutes)

Directions: There are 30 incomplete sentences in this part. For each sentence

there are four choices marked (A), (B), (C) and (D). Choose
the ONE answer that best completes the sentence. Then mark the
corresponding letter on the Answer Sheet with a single line

through the center.

Reading Comprehension (35 minutes)

Directions: There are four passages in this part. Each passage is followed by

some questions or unfinished statements. For each of them there
are four choices marked (A), (B), (C) and (D). You should
decide on the best choice and mark the corresponding letter on the

Answer Sheet with a single line through the center.

Short Answer Questions (15 minutes)

Directions: In this part there is a short passage with five questions or

incomplete statements. Read the passage carefully. Then answer
the questions or complete the statements in the fewest possible

words.

VI. Translation from English into Chinese

Directions: In this part, there are five items which you should translate into

A



Chinese, each item consisting of one or two sentences. These
sentences are all taken from the reading passages you have just
read in Part Three of the Test Paper. You are allowed 15 minutes
to do the translation. You should refer back to the passage so as to

identify their meanings in the context.

VI. Cloze (15 minutes)

Directions: There are 20 blanks in the following péssage. For each blank there
are four choices marked (A), (B), (C) and (D). You should
choose the ONE that best fits into the passage. Then mark the
corresponding letter on the Answer Sheet with a single line

through the center.

K. Writing (30 minutes)

Directions: For this part, you are allowed thirty minutes to write a
composition on the topic *** You should write at least 100 words,
and you should base your composition on the outline (given in
Chinese) below:
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Test 1

Part 1 Listening Comprehension (20 minutes)

Section A

1. A. The woman doesn’t need summer clothes.

B. They should have started looking for summer clothes earlier.
C. Weekend is not a good time for shopping.
D. It’s not time.yet to look for summer clothes. .
2. A. 3:15 B. 3:00
C. 2:30 D. 3.:30
3. A. Dr. Sampson B. The man
C. Dr. Jones " D. Both Dr. Jones and Dr Sampson
4. A. In a stadium B. At a concert
C. In a movie-theater D. In a house
5. A. She doesn’t like talking to the man. '
B. She is not the right person to talk to.
C. She does not have time at the moment but she can talk tomorrow.
. She can talk if he can finish fast.
6. A. He has an uniriendly attitude.
B. He is friendly.
C. He is a quiet person.
D. No one in the office is as popular as Rick is.
7. A. Watching 2 TV program B. Going through files
C. Discussing a project D. Working on a computer
8. A. The bank B. The post office
C. The school D. On the road
9. A. Forest is crazy.



B. The house was not built to Forest’s satisfaction.

C. He was surprised that Forest sold the house.

D. Forest had to sell his house to pay his debts.

10. A,
B.
C

They’d received a broken tape recorder.

The woman knew how to repair the tape recorder.

. The tape recorder couldn’t be fixed.

They’d have to order more tape recorders.

Section B

Passage 1

Questions 11 to 14 are based on the passage you have just heard.

11. A.

B
C
D
12. A.
B
C
D
A,

The distinct atmosphere of each section.

. Special sound effects.
. Flashing tralffic lights.

. The extraordinary views of the zookeeper.

Because the zoo keeper kept on giving commentary.

. Because there were cars running through the zoo.
. Because cach section had a distinct atmosphere.

. Because there were animals from all over the world.

13. Because if the animals weren’t caged, the roads would look like
jungles.
B. Because our roads are as dangerous for animals as dark jungles are for
us. v
C. Because there are so many accidents on roads every day.
D. Because roads pass through jungles.
14. A. A lover of animals. B. A student of zoology.
C. An authority on jungles. D. A student of sound effects.
Passage 2

Questions 15 to 17 are based on the passage you have just heard.

15. A.
2

An air hostess’ job is quite simple and ordinary.



B. An air hostess should be caim and efficient.
C. An air hostess can travel a lot around the world.
. An air hostess m¥t be highly-trained.
16. /% Languages. ’ B. Nursery training.
C. P®&chological knowledge. D. Cooking. «
17. A. Because in case of an emergency a calm and efficient air hostess can
carry out the necessary procedures to save the passengers.
B. Because air hostesses also depend on the pilot as well as the passengers.
C. Because a pilot has to depend on air hostesses.
B. Because they could understand the passengers well with their

knowledge of foreign languages.

Passage 3
Questions 18 to 20 are based on the passage you have just heard.
18. A. 1791 B. 1971
C. 1799 D. 1789
19. A. Centimeter B. Decimeter
C. Millimeter D. Meter
20. A. 1,000 B. 10,000
C. 100 D. 10

Part I Spot Dictation (10 minutes)

The British Broadcasting Corporation is (21) applying

for jobs, because they suffer from hearing loss and this is due to a wide use of
22> . According to (23) ,» about 3

percent of them fail to win jobs for this reason. The figure indicates that

people suffering from hearing defects are more common than a decade ago.

Candidates applying for jobs in the British Broadcasting Corporation have

always had hearing tests. But (24) until 5 years ago. The
Corporation says officially that there is (25) with hearing
disabilities. But (26) a person’s understanding of speech.

That will rule out his chances of being an engineer (27)




So experts are now (28) to provide a warning light. Tt

flashes when the sound is too loud. One (29) and this
manufacturer has made (30) whulh the level of sound is too
- .
high. UG
ig ; , &

Part I Compound Dictation (15 minutes) “

Today school students in many countries have high rates of failing (S31)
. Two methods have been proposed to prevent (S32)

» one western and one Chinese. The western method was

(833) by Mr. Bates, a British actor in the early part of the

century. He trained people to relax very (S34) during the
period of (S35) reading. His method simply included
covering the eyes with the (836) of the hands and looking

at distant objects by moving the eyes from side to side instead of staring at
them. They then encouraged school children to look frequently at the (837)

on the wall of the classroom to relax their eyes. (S38)

. (839 . This also relaxes its excessive

intension in the muscles. It is based on by a doctor’s clouding traditional

Chinese medicine. But it can also be done by students themselves, (S40)

Part IV Vocabulary and Structure (20 minutes)

41. This situation does not of an easy solution.
Iy permit B. show
C. let D. grant
42, Our camp is so far from the highway we [eel from the world

when we are there. .

A. shut up B. shut down
C/ shut out D. shut off

43. The noise of desks could be heard out in the street.
A. opened and closed being opened and closed




44.

45.

46.

47.

49.

50.

51.

52.

C. having been opened an’d“closed D. to be opened and closed

We have to you at once.

AL./{he goods to be dispatched B. the goods being dispatched

C. for the goods being dispatched D. for the goods to be dispatched
Too much to x-rays can cause skin burns, cancer or other

damage to the body.

A. display B. exposure
(/ disclosure D. exhibition

Take the medicine for two days, /you'll get much better.

A. or Bﬁnd

C. so D. and yet

The heart is intelligent than the stomach, for they are both

controlled by the brain.

f\/./;m more B. much more

C. much less D. not much

He it to his colleagues’ care that he is well again.

A. owes B. attaches

C. attributes D. contributes

“Can 1 come by for my check tomorrow?”“Yes, by then I time

to go to the bank.”

A. bave B. will have-

(ﬁll have had D. have had

He was poor but proud, and every offer of help.
A. turned over B. turned back
(_L/;Jrned down D. turned away

The universe . we know it might have begun with a great
explosion.

A. that I‘%s

C. asif D. which

1 am very much to you for telling me.

A. dbliged B. forced



